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Which of these statements are true?

VIPT is a kind of victim cache

ILP stand for Instruction Logic Processing

How many entries does a 1MB direct-mapped cache with 64B cache lines have?

4k

64k
How many cycles does it take to execute one instruction

Exact one cycle
Exact as many cycles as there are pipeline stages

Viewing the virtual memory system (VM) as a cache, which of these statements are true?

It is a write-through cache

Which statements about VIPT caches are true?

It stores virtual address tags
A cache lookup is done before the TLB lookup
It suffers from the synonym problems



